= A
N = 0] &F AF S & AN A
2016 = 20l A LEHSH QIR A It
SN YD
MM xEZEES U=ME NE
H: x5S UEME I (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Ol TH A 1t 8,594,580 8,827,406 N 232,826
= 269,190
Xl 300,000
Jl 664,916
& 215,426
Al 7,145,048
=EE UEMHE X 4,883,600 4,483,500 400,100
=2FSE USME 4,883,600 4,483,500 400,100
st N=EsAE HAAIY 851,000 4,483,500 A 3,632,500
203 €2 F=&d| 1,000 0 1,000
03 AIZH =X 2 F XY 1,000 0 1,000
OstnN=std HEYRFA 1,000, 0008 1,000
308 XNXIEHMSOIA 850,000 4,453,500 N 3,603,500
08 W=sJl&otistE = 850,000 4,453,500 A 3,603,500
OstnN=SHIMAS AL 850,000,000 850,000
CSEDA MSAIE X 2,344,000 0 2,344,000
308 XAHXIEH SO0l A 2,344,000 0 2,344,000
08 W=EJl&otistE = 2,344,000 0 2,344,000
OU=EXDNA AMZSANY XN 2,344,000
Oo=ds(z:II8) 206,000,000& 206,000
ONEEES 497,000,000 497,000
OnaED 380,000,000& 380,000
Os3st= 392,000,000& 392,000
Oo%A N 481,000,000& 481,000
[@F===rSEoin) 388,000,000& 388,000
HFUKREHFAINSL S&H)| LE8AHE 84 40,000 0 40,000
207 A F 0 | 40,000 0 40,000
01 | 40,000 0 40,000
OFFDEHANE 5ZI| LHHY 8
40,000,000 40,000
SHE HIE SNEdE A 650,000 0 650,000
308 AHXIEHSOIA 650,000 0 650,000
08 W=sJl&otistE = 650,000 0 650,000
OsdtE gts &y X& 650,000,000 650,000
HAHHME X 199,600 0 199,600
308 XHXIEHSOIA 199,600 0 199,600
08 W=EJl&otistE = 199,600 0 199,600
OldIEAHME X& 199,600
osza 1,700,000& * 100 170,000
OHMEssl 29,600




SH: QTHA

MM xEZEES U=ME NE
H: x5S UEME I (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
BRI 180,0008 * 95 17,100
-HAS A sHM 2,500,000& = HhH 12,500
s 380 & 300,000 0 300,000
308 XX SHHSOIH 300,000 0 300,000
08 W=sJl&otistE = 300,000 0 300,000
oXNsdg 281 XN 100,000,000& * 30 300,000
NI &9 N3 92,000 0 92,000
308 XHXIEHSOlIA 92,000 0 92,000
08 W=sJl&otistE = 92,000 0 92,000
OXNSESIIH 24 X& 2,000,000 * 4601 92,000
(=St QXKL =32& X XA 407,000 0 407,000
308 XAXIGHH SO0l & 407,000 0 407,000
08 DK 2O HEEX 407,000 0 407,000
OUE=sty QXL =2 &% X
407,000,000 407,000
NEe g8 & M 435 41,700 0 41,700
ANEos 88 2 & 41,700 0 41,700
NeEgs 88 & sHAMY 41,700 0 41,700
201 gEt24dd| 260 0 260
01 AP 2t 2| H| 260 0 260
O3 2o sx9 M 70,000& = 23] 140
©3° Xz HZ 3,000& = 40% 120
202 044l 1,440 0 1,440
01 2L I 1,440 0 1,440
onNHeEE L XY ol
20,0003 * 29 * 33 * 128 1,440
307 QI2t0| ™ 40,000 0 40,000
02 QI2tAMAIE E X 40,000 0 40,000
(OPSESR=1arSE= 40,000,000 40,000
(st 31a & S8 ZTZHNE 2,000 0 2,000
XN oI =4 2,000 0 2,000
FUE]sg 29 2,000 0 2,000
201 et d| 2,000 0 2,000
01 AFR 2t 2| bl 2,000 0 2,000
OFEARS 3o 24 2,000,000& 2,000
HAEAY 3,642,340 4,305,838 A 663,498
= 269,190
Xl 300,000
J| 664,916
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SH: QTHA

B HAUAY
el HAUSY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 5,000 5,000 0
04 DI2HHALALSE E X 5,000 5,000 0
O+=sAE= MRESZZ2IY 29
,000,000& = 13 5,000
dAggsrH o 5,000 5,000 0
307 21201 A 5,000 5,000 0
04 DIZHHALALSE E X 5,000 5,000 0
oFAE MM T 5,000,000& =« 13l 5,000
SMAZ 0l EaE SACHA 17,000 17,010 A 10
307 glz2tol & 17,000 17,010 A 10
04 QIZHHALAIRI 2 & 17,000 17,010 A10
O23MAB0l FaESAHHA
17,000,000& * 13l 17,000
HFE2YE a4 5 HOISSH 13,400 13,400 0
307 gl2tol & 13,400 13,400 0
04 DI2ZHHALALSE E X 13,400 13,400 0
OF=Zd A4 & SOIES=H
13,400,000& * 13l 13,400
dIHEAYE FEB 403 4,000 4,000 0
307 21201 A 4,000 4,000 0
04 DIZHHALALSE E X 4,000 4,000 0
OFAHUZES S4U3 4,000,000& = 13l 4,000
d44 23t AZX NWRES 7,000 7,000 0
307 gl2tol & 7,000 7,000 0
04 DIZHHALALSE E X 7,000 7,000 0
OFAY 235, AXX NRES
3,500,000& = 23| 7,000
OtOIAtE StOtES Z2IIU gl 8,000 8,000 0
307 21201 A 8,000 8,000 0
04 DIZFHALALSE E X 8,000 8,000 0
OOIOIArZSIOIS ZIIUEl (3td L st Q)
8,000,000& = 13l 8,000
AT MIFHAE 20E0tE 3,000 3,000 0
307 21201 A 3,000 3,000 0
04 QIZFHALAIH B = 3,000 3,000 0
CEPIEEE-PNEEY T
3,000,000& = 13l 3,000
2808 X 50,000 30,000 20,000
< 20,000
Al 30,000




2N
X ZH -
L= B

el

= _ — d =
CHB - BI(BH) - NN - B e 2
307 glz2tol & 50,000 30,000 20,000
< 20,000
Al 30,000
02 PIZHEHAHE L 50,000 30,000 20,000
O=H 85 F24d =23 UE
50,000,000& = 13l 50,000
= 20,000
Al 30,000
SSEAEFSHAE AU A BRI X & 74,652 68, 366 6,286
J| 31,560
Al 43,092
307 gl2tol & 74,652 68,366 6,286
J| 31,560
Al 43,092
02 It M AHE L 74,652 68,366 6,286
OZSEadHANLE FAEXNEZM BIXIX & 74,652
O138 BHXI X Z A 21 A HI
1,820,000 * 128 21,840
J| 10,920
Al 10,920
O28 BHXIXZ A 212 H]
1,720,000& * 2% * 123 41,280
p] 20,640
Al 20,640
OBAUMINCA 4HEHE L SRS
11,532,000& 11,532
FAE ALY 2933 294 4,000 4,000 0
J| 2,000
Al 2,000
307 glz2+0l & 4,000 4,000 0
J| 2,000
Al 2,000
02 HAFHAANGEEX 4,000 4,000 0
OFAHEANE 2E23s 2EXA
2,000,000 = 200 A& 4,000
J| 2,000
Al 2,000
HFAL2UEURSE 28 X3 70,000 70,000 0
= 28,000
< 12,600
Al 29,400
307 glz2tol & 70,000 70,000 0
= 28,000
< 12,600
Al 29,400
04 QIZFHALAIH B = 70,000 70,000 0




2N

dM: HAEAMS
chelr HAESA CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
PEEEEERTEIEENE
70,000,000& = 1JH 2 70,000
= 28,000
< 12,600
Al 29,400
NAZAEEWHRARAS 2 2,800 2,800 0
J| 1,400
Al 1,400
307 gl2tol & 2,800 2,800 0
J| 1,400
Al 1,400
02 IZHEHAHEE 2,800 2,800 0
OXNFEAHE FOHARE 29
2,800,000& = 1JHEHX 2,800
J| 1,400
Al 1,400
dad soielas XN 27,500 9,000 18,500
= 11,000
< 4,950
Al 11,550
307 gl2tol & 27,500 9,000 18,500
= 11,000
< 4,950
Al 11,550
04 DIZHHALALSE E X 27,500 9,000 18,500
oxad s0t218s XA
1,250,000& 2200 =02l 27,500
= 11,000
< 4,950
Al 11,550
MElUsE2E A 10,000 10,000 0
307 21201 A 10,000 10,000 0
04 DIZHHALALSE E X 10,000 10,000 0
OMELIE 449 &M 10,000,000& * 13 10,000
SRELYE NI HAMY 15,000 15,000 0
307 glz2tol & 15,000 15,000 0
04 DI2HHALALSE E X 15,000 15,000 0
OE22 REHAE B AAY
5,000,000& = 3JHEHXl 15,000
NEFEFAGUESIEEH 2SXE 74,120 74,120 0
101 @124l 62,025 62,040 A15
04 JIZHHZ2Z2XNHESE S 62,025 62,040 A15
O4GY=REH 2AH] 62,025
OdHE 2,500,000& = 1H » 1228 30,000




M QA Dt
dM: HAEAMS
chelr HAESA CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Og& (28 8) 1,164,800 198 «12& 13,978
Ogd =2 (HEFItHl)
1,164,800& = 1 * 100% * 13l 1,165
O Mg Al 110,000& » 18 = 128 1,320
O4HEEMSTH 23 300,000& * 123 3,600
OxZH2ZR+E 8,500& * 20Al2H = 12& 2,040
O)SESESE=0=, 390,000& = 12& 4,680
OIJLA X &bl 1,164,800& » 1H * 250% 2,912
OJlgsg 1,164,800& » 1F * 200% 2,330
201 ¢er24] 11,080 11,080 0
01 At 2t 2l 6,480 6,480 0
OZz1d 29l 6,480,000& 6,480
02 2324gHl 4,600 4,600 0
023223 4,600,000 4,600
405 XHoHF S HI 1,015 1,000 15
02 =M=l 1,015 1,000 15
ONsIM ¢ 1,015,000& 1,015
EFFAESEE JsES AY 500,000 0 500,000
Xl 300,000
Al 200,000
401 Al BIZ 201 8] 500,000 0 500,000
Xl 300,000
Al 200,000
01 A& HI 488,700 0 488,700
OFAEEHE JIsEZAY At
471,480,000 * 14l 471,480
Xl 282,888
Al 188,592
OFAEFEHE JIsEZAY AAIEHH
17,220,000& 17,220
Xl 10,332
Al 6,888
02 2feltl 7,700 0 7,700
OHEAUEUREHE JIsSELAY
7,700,000& * 14 7,700
Xl 4,620
Al 3,080
03 Al =TI 3,600 0 3,600
OFAEEHE JIsEZAY AIZRUH
3,600,000& 3,600
Xl 2,160
Al 1,440
dAHE B35 1,673,072 1,530,072 143,000
= 230,190
J| 629,956




SA QYA D
Ha: HAUAY

el AW 235 (e @e)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 177,876
Al 635,050
AW A BESAMY 35,000 35,000 0
307 gl2tol & 35,000 35,000 0
11T M SRAISE EX 35,000 35,000 0
OFAYE HdCESAG(HEREHAMLARS])
2I N 15,000,000& * 1JH 2 15,000
OB S MY =& 10,000,000 * 200 2 20,000
ANz HAESEXNIMARE X 175,340 171,000 4,340
J| 87,670
Al 87,670
101 @124 dl 56,392 50,140 6,252
J| 28,196
Al 28,196
04 JI12ZtHZ22HEE =+ 56,392 50, 140 6,252
OSEXAMA AAHHI(M 8) 56,392
ool (2Y) 40,369,000 40,369
J| 20,184
Al 20,185
OFE&Itdl(2Y) 2,403,000 2,403
J| 1,202
Al 1,201
OFHZAHI(2Y) 2,640,000 2,640
J| 1,320
Al 1,320
OxM2R<(2¥) 4,080,000 4,080
J| 2,040
Al 2,040
OEXNYEZ3(2Y) 2,700,000& 2,700
J| 1,350
Al 1,350
O4HEEMSUHREE S 4,200,000 4,200
J| 2,100
Al 2,100
201 Let24dy| 16,850 17,250 A 400
J| 8,425
Al 8,425
01 At 22/l 16,850 17,250 A 400
OfIds 2 (MEFHH 2,000,000& 2,000
J| 1,000
Al 1,000
OnzY 2IHI(MEF 11,850, 000& 11,850
J| 5,925
Al 5,925
OEEE MIH(MEFH 3,000,000& 3,000
J| 1,500
Al 1,500




SA QYA D
Ha: HAUAY

- _ _ RE]
H-H2 - B9 (3H) - HEAY - BA=S Ol At o ﬁ}lgﬁ HRE2
202 o4 | 12,018 11,500 518
J| 6,009
Al 6,009
01 2L I 12,018 11,500 518
OYE=&HH (MEZ=HH) 12,018,000 12,018
J| 6,009
Al 6,009
301 et A= 2,410 6,610 A4 ,200
J| 1,205
Al 1,205
01 Al B & X 26 2 1,010 1,110 A 100
ORIIMAYE 2183372 X XN (ME=HH)
636,000 636
J| 318
Al 318
ORIIMAYE o2 U HEXA(MEFTHH)
374,000 374
J| 187
Al 187
09 #HAIAHI BEAZ 1,400 5,500 A4,100
ONAZSAIX AHBA2(MEZHEH)
1,400,000 1,400
J| 700
Al 700
307 QI2t0| & 87,670 85,500 2,170
J| 43,835
Al 43,835
11T A EXAIEEX 87,670 85,500 2,170
OXFAEHESXNIMARES(H=HH)
87,670,000 87,670
J| 43,835
Al 43,835
gtk & 0ob2tdio] 2 X 440,380 464,000 N 23,620
= 220,190
& 66,057
Al 154,133
307 QI2t0| & 440,380 464,000 N 23,620
= 220,190
= 66,057
Al 154,133
11T A EXAIEEX 440,380 464,000 AN 23,620
ogu=x oatdiol 249 440,380,000& 440,380
= 220,190
& 66,057
Al 154,133
A2EEHSE XA 712,132 553,022 159,110
J| 356,066




SM: TS D
Ha: HAWAY

chelr BAW ©5 (sl &2)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
== 106,819
Al 249,247
307 QI2t0| ™ 712,132 553,022 159, 110
J| 356,066
= 106,819
Al 249,247
05 QIZ2tR E 2 712,132 553,022 159, 110
oFAEEH 29 K& 712,132
Oged 3AdaH 29(15~20Q! 0/8tH)
271,086,000 = 102 271,086
J| 135,543
& 40,663
Al 94,880
OWED E3AHEH 29(10~1521 0O/8tH)
169,428,000& * 11 A 169,428
Dl 84,714
< 25,414
Al 59,300
OYAl Azl 29
271,618,000& = 10 A 271,618
J| 135,809
o= 40,742
Al 95,067
HAE SEHX Z2)SHSH 85,020 81,050 3,970
J| 42,510
Al 42,510
307 212t0| & 85,020 81,050 3,970
J| 42,510
Al 42,510
02 DI2tH AALH E X 85,020 81,050 3,970
OFAHE SHEA T2 29
85,020,000& * 1JH A 85,020
Jl 42 510
Al 42,510
HAEQMNEH2ZAIS 2 20,000 20,000 0
= 10,000
== 5,000
Al 5,000
307 212t0| & 20,000 20,000 0
= 10,000
& 5,000
Al 5,000
02 I2ZHH AALH B X 20,000 20,000 0
OFALHE RHSFAAS 29
5,000,000 = 4JH St 20,000
= 10,000
o= 5,000
Al 5,000




SA QYA D
Ha: HAUAY

el EadE 8BS (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Az s 9 d448 K& 193,200 134,000 59,200
J| 135,240
Al 57,960
101 @14 Hl 55,022 24,110 30,912
J| 38,516
Al 16,506
04 JIZHHZ2XRHEE S 55,022 24,110 30,912
Osw S FAEXE AHE(MEFHH) 55,022
ool (2Y) 39,036,000& 39,036
J| 27,303
Al 11,733
OYEEItHl (2YY) 2,366,000 2,366
J| 1,679
Al 687
OFHMZ AL (2Y) 2,640,000 2,640
J| 1,848
Al 792
Oz=l2R¢(2%) 4,080,000& 4,080
J| 2,856
Al 1,224
OfI&NEZ(2Y) 2,700,000 2,700
J| 1,890
Al 810
(OZAN Jh=-PNR=PUE == 4,200,000& 4,200
J| 2,940
Al 1,260
201 Lt 22,778 38,690 A 15,912
J| 15,944
Al 6,834
01 At 22l 22,778 38,690 A 15,912
OMH2IH (ME=HEH) 378,000& 378
J| 264
Al 114
oZzY 2IYHI(MEF=HE) 22,400,000 22,400
J| 15,680
Al 6,720
202 o4dl 5,000 1,000 4,000
J| 3,500
Al 1,500
01 = LH o4 1l 5,000 1,000 4,000
OYRFA GUl(MEFHEH) 5,000,000 5,000
J| 3,500
Al 1,500
307 2I2+0 & 110,400 67,000 43,400
J| 77,280
Al 33,120
02 It S AMHE L 110,400 67,000 43,400




FAN:ATSHED
N FAEMY

e 3AHE B (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Osn ¥ HAEXNH (HF=HH)
110,400,000& = 1JH 2 110,400
Dl 77,280
Al 33,120
HAESEIIAMNGE 29 12,000 12,000 0
Jl 8,470
Al 3,530
301 Bt A= 12,000 12,000 0
Il 8,470
Al 3,530
01 MIIBEEE2G2 12,000 12,000 0
OFHAEHELEXIAANG 2 12,000,000& 12,000
Jl 8,470
Al 3,530
HHSHAH (A THEA ) 24,940 38,068 N 13,128
Jl=23 bl 24,940 38,068 N 13,128
JlE23Hl 24,940 38,068 AN 13,128
201 et A | 10,640 18,868 N 8,228
01 AFR2 2t 2l dl 10,040 14,672 N4 ,632
OJI=2gR+=AH| 5,000,000& 5,000
Oz=EHI (JIEd4l) 5,040,000 5,040
02 35244l 600 4,196 AN 3,596
O&d=xI| dx=z 50,000 = 1A = 128 600
202 04| 10,800 16,200 A5,400
01 2LHOHI 10,800 16,200 AN5,400
O J|I&EZHI 10,800,000& 10,800
203 YR =&Y| 3,000 3,000 0
04 2SI L RF=AH| 3,000 3,000 0
O©JI= (1521 0ld}) 250,000& = 12& 3,000
405 XHaHF SHI 500 0 500
01 JHAtE = ZF S b 500 0 500
Ot 2 ¢l 500,000& * 1CH 500




